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LONG DIVISION WITHOUT REMAINDERS LONG DIVISION WITH REMAINDERS
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ANSWERS - PAGE 1 ANSWERS - PAGE 2
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3 x 24 = 72 

 3 GOES INTO 7 ONLY 

 2 TIMES, AND 2 TIMES 

 3 EQUALS 6. 
 THEN SUBTRACT 7 

 MINUS 6, WHICH 

 EQUALS 1. 

 BRING DOWN THE 2 
 AND START OVER. 

 3 GOES INTO 12 
 EXACTLY 4 TIMES.  SUBTRACT 12 MINUS 

 12, WHICH EQUALS 0. 

 WE'RE DONE! 

 DO YOU SEE HOW YOU STILL HAVE 

 ONE LEFT WHEN YOU ARE DONE? 

 THAT IS CALLED A REMAINDER. 

 SOLVE THE SAME WAY YOU 
 DID ON THE PREVIOUS PAGE. 

 2 x 23 = 46. IF YOU 

 ADD THE REMAINDER 1, 

 YOU GET 46 + 1 = 47. 
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